@ {1, 2, 3, --- ,100}
@ {0}
® {x|x 03 14| 9] 4=}

@ {X|X%Z-ZH\‘}

@ {x|x= 150 22 24}



R

Bgole AFET W A4S 97] 915 heat 22 FH O AL S
Bgol7t Be 4 Qe 2HAlS Fotelat
1 {1, 2, 3, 4, 5} O PEAF F U4 1,28 WEA ZP 3
2 EFHA et
4 2] [ ] ool Wl (7412 wEsHA e A whebd st
Srow ghe 41e mreict
4 3] {1, 2} A1 Alaget

(et ]~ [sl >[4l |>[=%el ]

21

[z.sr ][z | > [1nss > ws |

[12.3.41 | > [12.3.50 | > [{n2.50 |— [ @% ]

[12.3.4] > [(1.2.3.5] — [1.2.4.5)] > [H=91A |




ks

H
BESte W X o g

A={a, b, ¢, d},B=1{a, c, e, f}ol ol (AnB)C X C (AUB)

@ 10 7H ® 12 74 @ 1474 ® 16 7H



o

A={1,3} ol

T

ol
I

3

S

@

47k3 709 A 9 B8

o

®

® {1} c A o]t}.



T Aol A= A g2 A2?

®© A={1,2, 3}, B=1{2, 3, 1}

@ A=1{2, 4, 6, 8}, B = {z|zt= 8 ol5}2] B}

® A={a, b, c}, B={c, b, a}

@ A= {zlze 5 0I5t 5}, B = {z|z= 6 °I5t] &5}

® A={3, 6,9, 12}, B= {z|lzE 39 #l5}



Tor

o

=0
Tor

o4

jan
NE

sholat,

:rL



{o | w10 o15ke] 29] W) ol hokod n(X)
o %2 Patolet.

4 <l

;g

gt

A

9






9.

th3 H7|ofA Aol tigh Aoz 2] 52 A2?
[
1=

Q@ n({0}) =1

© {1,2} > {2,1}

® {1,2,3,---100} D {1,100}

© n({2.3,5,7}) =n({0,{2},2,{0}})
@ n({1,10,{1,10}}) =4




10. AAYE U = {a | o= 12 o]5k9] A4} o] FEHT A, B ol thstel B—A =
{2,7,10,11} , A = {1,3,4,5,6,8,9,12} , n(B) =8 & o, A& (AU B)® &
Fstolel.



